g f :
g :
910_1 :
© :
102 ;
10*3 LR -.-'- --------------- [
""""""""""""""" r -"'”M't“
010—% Ly L .......i PN 1T B B AT 010—% ) .......i L .......i FEFEPETTIT M T
g | : : : g : : 1
i e R
0.95 '71 ; ; ; . . 0.95 '71 ; ; : . .
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
—s— DQM_TT__mkFit-DQM_old132
—— DQM_TT__mkFit-DQM_new132
=~ 1e _
1] E €
S i
S =
g 11N U O T =
g 10 e}

1072

sl | © e

0.950
_1 2 3
10 L 1P (pca dbeamiindf

o oo

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


